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QUESTION 1
Exhibit:
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You are asked to design a solution that will provision a circuit from the corporate headquarters to a remote

branch. The circuit must be secure, and must support IGP adjacencies. IPsec has been chosen to secure

traffic across the WAN connection.

Referring to the exhibit which statement describes another requirement for this circuit to function correctly?

A. You must use a service provider Layer 2 VPN to establish routing protocols across the circuit.

B. You must use a service provider Layer 3 VPN to establish routing protocols across the circuit

C. You must implement GRE over IPsec to establish routing protocols across the circuit.

D. You must increase the MTU of the IPsec tunnel to more than 1500 bytes to allow routing updates across the circuit.

Correct Answer: C

QUESTION 2

Which management platform automates and simplifies the management of Juniper Networks switching, routing, and
security products?

A. Junos Space

B. Juniper Secure Analytics
C. Junosphere

D. Junoscope

Correct Answer: A
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QUESTION 3

Your company is designing a new data center in a remote location that must be connected to your local data center.
You have a service provider connection between the CE devices at each site. You want to implement EVPN with
VXLAN services between sites, but the service provider does not offer EVPN services. Which two statements are true in
this scenario? (Choose two )

A. The provider\\'s edge devices must map your VXLAN VNIs to MPLS LSPs within the provider network at each site

B. The customer\\'s edge devices within your data center can act as VXLAN Layer 2 gateways

C. You can still implement EVPN service across the service provider as long as there is IP reachability between the
sites.

D. The service provider must provide an MPLS-based VPN connection between sites

Correct Answer: BC

QUESTION 4

What are two considerations for all WAN designs that use best industry practices? (Choose two )
A. to provide a dynamic routing protocol internally in the LAN

B. to provide scalability

C. to provide ease of deployment

D. to provide VXLAN and EVPN solutions

Correct Answer: BC

QUESTION 5
Exhibit:
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Referring to the exhibit which statement is true about the connectivity between service provider A and B regarding the
customer\\'s network information?

A. The service providers must set up MPLS label exchange between each other for this scenario to work.
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B. The customer is acting as a colocation (meet-me) for an inter-network routing scenario shown in the exhibit.
C. The service providers must set up MP-BGP between each other to support this inter-network routing.

D. The service providers may not be aware that they are providing inter-network routing for the customer.

Correct Answer: C
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